
 

 

 

Extra power 
MNL-1RK-XTRA-PWR v1.10 

 

 

 

  ONErack patent pending  

  Installation Guide 
 



1  ONErack 

Tools 

 Phillips PH1 crosshead screwdriver 
Pozidriv® PZ2 crosshead screwdriver 

 

In the box 

1 Voltage selector 

 

1 Daisy-chain cable 

 

1 Rear dock 

 

3 Power connectors 

 

2  M3 screws (black) 

 

3 M4 screws (silver) 

 

 

In the unlikely event that a component is missing or damaged, please 

contact tech.usa@tvone.com or tech.europe@tvone.com 

 

mailto:tech.usa@tvone.com
mailto:tech.europe@tvone


tvONE  2 

Installing the voltage selector 

To avoid damaging your ONErack, build it in a clean, tidy area and 

protect against electrostatic discharge. 

1. Position the voltage selector 
in the corner of a module so 
that the tabs sit in the holes. 

 
 

 
2. Turn the module over and 

screw the voltage selector in 
place with three M4 screws. 

 

Fitting the guide rails and dock 

1. Slide the module into the 
groove in the guide rails. 

2. Screw the module in place 
temporarily with one or two 
M3 screws. 

 



3  ONErack 

3. At the rear of the chassis, 
push the dock into the new 
voltage selector. Use the 
module to help you align the 
dock. 

4. Screw the dock in place with 
two M3 screws. 

 

Selecting the voltage, connecting cables and 

mounting devices 

For further instructions on connecting and mounting devices on the 

module, see the Installation Guide for ONErack modules 

(MNL-1RK-MOD). The guide is available from the Support Documents tab 

at www.tvone.com/onerack. 

Contact us 

www.tvone.com info@tvone.com 

tvONE NCSA  
North, Central and South America 

tvONE EMEA 
Europe, Middle East, Africa and Asia Pacific 

 
2791 Circleport Drive, Erlanger, KY 
41018, USA  

Continental Approach, Westwood 
Industrial Estate, Margate, Kent, CT9 4JG, 
UK 

 
Tel +1 859-282-7303  
Fax +1 859-282-8225  

Tel +44 (0)1843 873311  
Fax +44 (0)1843 873312 

 
Sales: sales@tvone.com  
Support: tech.usa@tvone.com 

 
Sales: sales.europe@tvone.com  
Support: tech.europe@tvone.com 

 

Information in this document is subject to change without notice. No part of this publication may be 

reproduced, stored in a retrieval system, or transmitted in any form or any means electronic or 

mechanical, including photocopying and recording for any purpose other than the purchaser's 

personal use without the written permission of tvONE. 

Copyright 2016 tvONE. All rights reserved. 

 

http://www.tvone.com/onerack
https://tvone-my.sharepoint.com/personal/dana_weaver_tvone_com/Documents/Product%20Manuals/tvONE%20Manuals/In%20Progress%20(Paul)/www.tvone.com
mailto:info@tvone.com
mailto:sales@tvone.com
mailto:tech.usa@tvone.com
mailto:sales.europe@tvone.com
mailto:tech.europe@tvone.com

	Tools
	In the box
	Installing the voltage selector
	Fitting the guide rails and dock
	Selecting the voltage, connecting cables and mounting devices
	Contact us


